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Τριώνυµο  f(x) = αx2 + βx +γ 

 
 
 
1. ∆ > 0,   

• f(x) = 0  τότε  x
2

−β ± ∆
=

α
 

• f(x) = α(x - x1)(x - x2) 
 
• Το πρόσηµο της f(x) είναι 

x ∞−                          x1                              x2                                          ∞+

f(x) Οµόσηµο του α Ετερόσηµο του  α Οµόσηµο του α 

 
2. ∆ = 0,  

• f(x) = 0  τότε  x
2
−β

=
α

 

• f(x) = α(x – ρ)2 
 
• Το πρόσηµο της f(x) είναι 

x ∞−                                        ρ                                             ∞+  

f(x) Οµόσηµο του α Οµόσηµο του α 

 
3. ∆ < 0,   
• Η f(x)  ∆ ε ν  έχει ρίζες στο R 
 
• Η f(x)  ∆ ε ν  π α ρ α γ ο ν τ ο π ο ι ε ί τ α ι 
 
• Το πρόσηµο της f(x) είναι 

x ∞−                                                                 ∞+  

f(x) Οµόσηµο του α 

 
 

2 4∆ = β − αγ    ,  0α ≠


